Types of Unemployment
Activity 1: What is unemployment? Circle the correct words from the text below.
Unemployment refers to the number of people out of work who are willing/unwilling, able/unable and available/unavailable to work, but who cannot find a job. The Claimant count/Labour Force Survey measures the number of people claiming Job Seeker’s Allowance (JSA). The Claimant Count/Labour Force Survey is the measure used by the International Labour Organisation: this calculates the number of people who have looked for a job in the last 4 weeks and can start work in the next 2 weeks. 
Activity 2: Read the 6 articles below and identify as many reasons for unemployment as you can.
Article 1 

British workers are "among the worst idlers in the world", a group of Conservative MPs has claimed. Unions said the millions of people out of work or working fewer hours than they wanted would find the MPs' arguments "deeply irritating".
"The problem with the UK economy is not its workers, but a severe lack of jobs," said TUC general secretary Brendan Barber.

"It's not the UK work ethic which is holding the country back but a lack of demand in the economy - a situation that is being made considerably worse by government spending cuts. 

BBC website 18th August 2012

Article 2

Christine Snell runs Windmill Hill Fruit Growers, a soft fruit farm in Herefordshire. She has more than 300 people working on her farm in the summer, and she needs to employ at least 30 even during the winter months. The work is ideal for youngsters because experience is not necessary: all you need is a degree of physical fitness and the ability to turn up on time. 

How many of her workers are English? Just one. She recruits almost the whole of her workforce abroad, mostly from Bulgaria and Romania. 

“I desperately want to recruit locally,” she explains. “Every few months, I place ads in an attempt to attract local workers. The response to my most recent ad was typical. I got 17 replies. When I explained what was required – five days a week, eight hours a day, with wages of £6.50 an hour – only two of them were willing to work for me. 

Telegraph Jan 23rd 2011

Article 3

Supermarket giant Sainsbury's is to create an extra 5,000 seasonal jobs to meet increased demand from customers over the busy Christmas and new year period. 

The company announced in September it was creating 15,000 vacancies across its 1,000 stores, filling them in "record time".

The Independent, November 2012

Article 4 

Universities are not producing enough science graduates with the skills needed by UK industry, a report says.

The Lords Science and Technology Committee calls for immediate action to boost student numbers in science, technology, engineering and maths at undergraduate and postgraduate level.

Article 5

Britain's coal mining industry suffered yet another hit yesterday as the owners of one of the country's last remaining deep pits announced plans to mothball the operation, with the loss of up to 540 jobs.

After 104 years of production, Maltby colliery near Rotherham in South Yorkshire, the scene of some of the biggest pickets in the 1980s strikes, is due to close .

The decline looks set to continue, as the UK seeks to comply with EU legislation, introduced in 2001 and designed to reduce carbon emissions. This states that coal-fired stations built before 1987 – a particularly dirty source of energy – must either be modified with costly, modern emissions control equipment, or operate only for a total of 20,000 hours between 2008 and 2015, when they must come out of service completely. As a result, a series of coal-fired power plants will close early, significantly reducing customers for UK coal miners.
Article 6 

It’s important you don’t underestimate how long it will take to get another job. When economic conditions are normal, a manager or professional can expect their job search to take between three and six months. In the current economic environment, it might take a lot longer.

TYPES OF UNEMPLOYMENT 
1. …………………..………….  – Regular seasonal changes in employment / labour demand. Unemployment data is usually given a seasonal adjustment to reflect this. Not a major concern for labour market economists. Affects certain industries more than others, Catering and leisure, Construction, Retailing, Tourism, Agriculture and many others 
2. …………………………….. – Where AD is not high enough to create sufficient demand for goods and services
3. ………………………….…. - Unemployment in a dynamic economy where there are new jobs being created and old ones being lost all of the time
4. ………………………..….. Arises from the mismatch of skills and job opportunities as the pattern of labour demand in the economy changes over time
· Occupational immobility of labour - As patterns of employment change, many workers may find it hard to easily secure new jobs, since they lack the necessary skills 
· Geographical immobility of labour – where workers find it difficult to move to employment opportunities, due to family ties and differences in the cost of housing, cost of travel etc.
5. ………………………………..  exists where workers are not prepared to work at the prevailing wage rate. 
Activity 3: What are the costs of unemployment?  Complete the boxes below by explaining what the costs of unemployment might be to the following groups:
	Groups in the economy

	In the boxes below write a brief explanation of the costs of unemployment to the groups identified below. Be prepared to read your answers out.


	Workers and their families

	Example: Unemployment will mean that workers and their families will have reduced incomes. In turn they will have less to spend on goods and services.  Large increases are associated with increases in poverty.


	Governments 

	(Hint: Think about tax receipts, unemployment benefits)

	Local communities

	(Hint: effects on crime? Effects on local shops)


Activity 4: Which Type of Unemployment?

1. Rob Quinn has been unemployed for two months after being laid off from his labouring job. “I think the firm was short of money and orders were down” he said. 

2. Mr Vaas a former worker at a furniture company resigned because “I was paid about £12,000 a year and it wasn’t enough” Unemployed for 13 weeks he was optimistic about getting a new job

3. James Raymond was made unemployed from a UK textiles company, like many colleagues and many similar textile companies. The companies blamed the loss of jobs on the high cost of UK labour relative to East Asia. There are worries whether James and friends will get a job in textiles in the UK again. 

4. The UK is recovering from a recession. Paul Grant is employed by Haven Holidays and has only been able to get work in the months from April to September but finds himself without work throughout the rest of the year.   

5. Graham Norton has just finished his final series of the Graham Norton show and is looking to get a high profile TV or film part in the coming months but is currently unsuccessful. The search continues… will anyone employ him again?

· In the space provided below, make your own MCQ based on what you have learned today and test the person sitting next to you.
Article Summary: Reasons for unemployment
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